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EEE U T t=15cmET m 940
BEHIP AR IR B I AEA

S IRIEL T BHO0.28m3, t=15cmLL F m2 283
ey A% SRR

SRR L BH0.28m3, +# m3 250
ey A% SRR

AR T BH0.28m3, # Ak, Aun’ m3 110
By A% SRR

FATHERT BHO0.28m3, i 1, 2o’ m3 57
DT 4tf% BHREIAL= km

AL T Ash'7 m3 14
DT 4t BHREIAL= km

LB T R m3 180

A= Ash'7 t 33

A= +w m3 180
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NS W=1.8mb | AR
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HEREREED
i 5t B &
T fH 4 IR N R BT 75 FHij PR i
EKE

@D.DCIP(GX) ¢ 100
DCIP-GX SFH PN =R %V g

A ¢ 100X 4,000 108
DCIP-GX SFE PN =& %V 4§

E B GE) ¢ 100X 4,000 7
DCIP-GX T3 #y kit

s i ¢ 100 X45° 1] 4
DCIP-GX T3 #y kit

=z b $ 100X22 1/2° 1@ 1
DCIP-GX T3 #y kit

=z b $ 100X 11 1/4° 1@ 4
DCIP-GX TR iRt

T $ 100X ¢ 75 & 2

ke H GXJ¥. HPPEJAHL O

FFEE T ¢ 100X ¢ 50 1 1
DCIP-GX T3 gt

X iy $ 100 12 3
DCIP-GX

A ¢ 100 12 9
DCIP-GX

GUr 7 ¢ 100 1] 11
DCIP-GX

Botoh ¢ 100 1] 7

PR FCD ¢ 100

L O SR 1 1

ARYAR)—7 ¢ 100 m 460.8
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HERER I —h W=150mm 2fZ1iA m 460.8
BEAKE

(D.HPPE ¢ 50

HPPEE & (U1 H)

T — TN EE $ 50X 5,000 2

PEfEL M1 £F

A ARk ¢ 50 P 1

HPPE

EFY /7o b ¢ 50 1 2

HPPE

EF 5%~ ¢ 50X 90° 12 1

HPPE

EF 52 SR ¢ 50 X 300H 1 1

HPPE

DR SaYAN ¢ 50X 45° 12 2
H=150

AR s i) 1
H=150
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D.DCIP(GX) ¢ 100
Atk
HERE A T $ 100 m 460.8
[EKEREY
GX#kF 1T ¢ 100 ] 115
BRI
GXftF T $ 100 | 7
AH=TINVARTF
GXHkF T $ 100 ]
GUv
GX#kF 1T ¢ 100 ] 11
GXJE
HEERE U T $ 100 ] 10
AR —T 7B T $ 100 ¥iET—7 m 460.8
MR F IRV L W=150mm 2{Z473iA m 460.8
HEAK S
(D.HPPE ¢ 50
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RERS
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RERS

RBYLFL BHETE T 20 Gl L ¢ 50 & 6

BTV BN L $ 50 K 5

H-EIFERE T $ 50 R e 1
=FARz

O ERRE T ks H=150 {5 AT 1
=FARz

) fpfEaE T -3REE H=150 &7 1
=FARz

O ERRE T T EBEE H=300 & T 1
= FARz

) ERRE T JEERR H=40 & T 1

o =74/ A Y—1 ¢ 50 m 10.9

e AN A B W=150mm 2f5H73A m 10.4

Bhigz 7 —hL

P T /N TE ) m2 0.4
o ck=18N/mm2

a7 —hL /N TE ) m3 0.05
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1.+ TEFHR

TH H S AT R
1 2 3
VAN = IR TS =N
DP=0.70 DP=0.70 DP=1.00
B HE AS5-10-15
< PRI >
Ashiys—
DI 1 t=15cm* T 921.58 16.78 4.04 m 942.40 940
et AT R IR A
R EEL T BH0.28m3, t=15cmLL T 276.47 5.03 1.21 m’ 282.71 283
PEHD A% 5
PRHE T BH0.28m3, +#p 240.53 4.08 1.35 m’ 245.96 250
PEHD A% A
AN IR T BH0.28m3, &# Ak, 4v 111.05 1.79 0.43 m’ 113.27 110
PEHD A% A
AR T BH0.28m3, it/ -, 4 55.29 1.01 0.61 m® 56.91 57
DT 4tff BHFEIAL= km
TR AL T Ash'T 13.82 0.25 0.06 m’ 14.13 14
DT 4tff BHFEIAL= km
TR AL T +W 179.25 2.96 0.67 m’ 182.88 180
S5y 2 Ast'7 32.72 0.60 0.14 t 33.46 33
S5y R 179.25 2.96 0.67 m® 182.88 180
<{RAZIA >
AT W=1.8mL | AunHiEE
TR T (hEEE)  [77yYvv—7VRC-40,t=15cm 276.47 5.03 1.21 m’ 282.71 283
AT W=1.8mL = AunHizE
ERE T (EEE) R AM-30,t=12cm 276.47 5.03 1.21 m? 282.71 283
EXCIN RV AN
FJE T (THEHEE) BRLET 27 t=3cm 276.47 5.03 1.21 m? 282.71 283




TTEREFHE

TH H I & HAT
B A& AR ] =
ZAN i TR~ (1) ©) ®3) @ ®) ©6) !
+T1 HiEHE AS5-10-15
DCIP-GX ¢ 100 DP=0.70 44.00 145.05 144.78 70.74 56.22 m 460.79
+T2 HiEHE AS5-10-15
HPPE ¢ 50 DP=0.70 8.39 m 8.39
HiEHE AS5-10-15
L3 HPPE ¢ 50 DP=1.00 2.02 m 2.02
& &t 44.00 145.05 144.78 70.74 66.63 m 471.20




+ T B A7 % & B H EF(1m4Y) T WA S Fg Y %R
DCIP-
+T 1 GX ¢ 100 T4k 0.70 m <SS
. . . T AT 7 VMK
miE B, AsHiEE EE T t=15cmE T 1.00 X S 2.000] m | 921.58
+TIHEE = 460.79 AsIEHER B FA 2
SEERETE T |BHO.28m3,t=15cmBLF | 0.600 0.600| m2| 276.47
L=460.79m HEH A5 BHO.28m3
PR T VR 0.600 X 0.870 0.522| m3| 240.53
:t I ® PEH 251 3 BH0.28m3
BEAFHHET |2 Ak, Ao 0.600 X 0.420 - 0.011 (BlAHERR) 0.241| m3| 111.05
AS5-10-15 (ThiEE &)
AR T |BHO.28m3+4n 0.600 X 0.200 0.120| m3| 55.29
B R # B A FEAD TAtRE, L= k| &2 i g T
V- ik ASH'T 0.600 X 0.050 0.030| m3 13.82
BEMEDADTAtRE, L= km| K3 T FEA R
600 7% L3EE T HEH A% BHO.28m] 0.522 — 0.120 =+ 0.90 0.389] m3| 179.25
5% s T
A ASH'T 0.030 X 2.350 0.071] t 32.72
- | A - 7% T L
o ;J:Iﬁi%ﬁ 20 =To L5y RR 0.389 0.389| m3| 179.25
H -—
8 TEEE |~ = g &
i ‘RC-40 8
= . VEEL =
8 g & ggﬁ I “‘ <A >
£ = S JE T 1.80mLL
Z sl “ TR T RC-40,t=15¢cm 0.600 0.600| m2| 276.47
= = 6 0% 1.80mLL |-
=] EEgaE T M-30,t=12cm 0.600 0.600| m2| 276.47
Ny, HiE
HBT BRI As t=3cm 0.600 0.600| m2| 276.47
BT — b
DCIP-GX ¢ 100 ObF—F 4 2574 %—
2 3
B PERR T =4 X 0.12 = 0.011 m




A} = 1m B V) wr o] o =
+ T OB HOR B R (ImY) Lo P ]
+T 2 HPPE ¢ 50 T#Y  0.70m >
. . . T A7 7 VR
miE B, AsHiEE EE T t=15ecmET 1.00 X S 2.000] m 16.78
+TIHEE = 8.39 AsIEHER B FA 2
SEERETE T |BHO.28m3,t=15cmBLF | 0.600 0.600] m2 5.03
L=8.39m HEH A5 BHO.28m3
PR T VR 0.600 X 0.810 0.486| m3 4.08
PEH 251 3 BH0.28m3
iI@ BEAET |22k, o 0.600 X 0.360 - 0.003 (Bl/&HEpR) 0.213| m3 1.79
AS5-10-15 (& HE &) Je LT |BHO.28m3+ay A 0.600 X 0.200 0.120] m3 1.01
B FEADTALRE, L= km| &R T
I R & I8 7 +E L ASH'T 0.600 X 0.050 0.030| m3 0.25
FERRDADTALRE, L= km| FRAE T
7% L3EE T HEH A% BHO.28m] 0.486 — 0.120 =+ 0.90 0.353| m3 2.96
600 T R T
A ASH'T 0.030 X 2.350 0.071] t 0.60
| 5% s T
- B EAs o ot +ib 0.353 0.353| m3 2.96
L. ‘ “‘3—0
| EREE f-30 S
8 TEE& 8_ g
i {RC-40 =
= . o /,
2 o = i K@Ei g <{RAEIR > __ \
H T - i & 1.80mEL b
4R R g | B FRE#ET  [RC-40,t=15cm 0.600 0.600[ m2 |  5.03
— = =1 & JE T 1.80mLL_E
= EE AR T M-30,t=12cm 0.600 0.600| m2 5.03
NJ, B
HBT BRI As t=3cm 0.600 0.600| m2 5.03
BRERY— b
HPPE ¢ 50 O —F 42574 %—
2 3
RS T =4 X 0.06 = 0.003 m




+ T A& FH B E(1mYY) SO o - S— Y
S ¥ &
+T 3 HPPE ¢ 50 T#v  1.00m P
. . . T A7 7 VR
g B, Ashide ST T t=15ecmET 1.00 X S 2.000| m 4.04
+TTHEE = 2.02 AsIEHER B FA 2
SEERETE T |BHO.28m3,t=15cmBLF | 0.600 0.600| m2 1.21
L=2.02m HEH A5 BHO.28m3
PR T VR 0.600 X 1.110 0.666| m3 1.35
T I@ B AR BHO.28m3
. . BEATHET |4k, o 0.600 X 0.360 — 0.003 (BrAPEER) 0.213| m3 0.43
AS5-10-15 (B2 E &)
) ReAEHHET  |BHO.28m3+4v 0.600 X 0.500 0.300| m3 0.61
- B R ® B8 HEPRAD TAURE, L —  kan] A7 2 o BB T
\ V- ik ASH'T 0.600 X 0.050 0.030| m3 0.06
FERRDADTALRE, L= km| FRAE T FEA R
600 7A@ T HEH A% R BHO.28m] 0.666 - 0.300 = 0.90 0.333| m3 0.67
5% s T
| A ASH'T 0.030 X 2.350 0.071] t 0.14
of 8 Es T 7 TRt I
| EEEE §-30 388 L5y RR 0.333 0.333| m3 0.67
TREE | of B
o {RC-40 =, .
3 N ‘
I
8 o - [\ S <A >
- T & | ERL © 6 TG 1.80mbL I-
H w | 2 TE#AET. RC-40,t=15cm 0.600 0.600] m2 1.21
28l o) Jiti T8 1.80mEL
YAk & g LT [M-30,t=12em 0.600 0.600[ m2 | 121
8.7 NJ, B
¥ = HBT BRI As t=3cm 0.600 0.600| m2 1.21
BERETRS— k
HPPE ¢ 50 O7—F 4T 74%—
2 3
RS x4 X 0.06 = 0.003 m




1-1. EKE #E

EiplE:es R0
P . kit s | mE E3EY BEF|E K = Gﬁ%%‘s@; Mz fth=z 1
=R L =R L
(1 (2) (3 (4) (5) (6) 100 0o | 100 - - 100 | 100 | 52100

@. DCIP (GX) ¢ 100

DCIP-GX SFE PNT=A FVi8 i
RS $ 100X 4, 000 A | 4.00 11 34 35 17 11 108 |[ 432.00] 108

DCIP-GX SFE PNz %Al UIERELD
mo s | ¢ 100X4, 000 A | 4.00 | 7 7

OIEELY
(BIEIER) 6100 | m 7.110 4. 190 2. 350 9. 150 22. 80

DCIP-GX R Ikt
Rz g ¢ 100X 45° @ | 0.42 4 4 1.68 4

DCIP-GX R Ikt
Frz s $100X22 1/2° f& | 0.38 1 1 0.38 1

DCIP-GX R Ikt
Frz s $ 100X 11 1/4° f&@ | 0.36 1 1 2 4 1.44 4

DCIP-GX  =AR¥F ik | T~FyE] 0. 12
T $ 100X ¢ 75 8 | 0.44 2 2 0. 88 2
e H GXJ. HPPEAAE L A
SRR T $ 100X ¢ 50 @ | o0.74 1 1 0.74

DCIP-GX iR T4kt
kX iy ¢ 100 f& | 0.20 1 1 1 3 0. 60 6

DCIP-GX
A7 ¢ 100 @ | 0.03 2 1 1 5 9 0.27

DCIP-GX
GU o ¢ 100 1A — 3 2 1 5 11

DCIP-GX
BaEy b ¢ 100 18 — 7
MR FCD ¢ 100
L O S {E] — 1 1 1
KUY AY—7" | ¢ 100/ m | RIEE) 460. 8




1-1. EKE #E

X T 1) % B QR
ST v | FEAMX] s 82| 4 GXfkF=Z N % =z 1
% ﬂ—\ ﬂ'&l’j(ﬂ'/f E'A{lL ”ér'ﬁ uiﬁ ;ﬁ%ﬁ‘ L E ﬁ Ejl— Xﬁ )( = { =
IEX BEC IEX BEC
1 2 3 4 5 6 100
W @ ®) @ ® ®) 100 100 75 75 100 | F-100 | F-100
HERFRR Y — kb |W=150mm 2{FHTA m | RIEER) 460. 8
2 FRIE R 44. 00 145.05 | 144.78 | 70.74 56.22 | 460. 79]| 460. 79 115 18
RATTES 44. 00 145.05 | 144.78 | 70.74 56.22 |460.79




1-2. £EKE DCIP-GX ¢ 100 EIEFFHE

B E 4o E ) )
%S 7 7% lh
Rk | & S|1EF BR | E S|&F BIK | E S |1EF BR | E & TR =
= X 290 4 | 9%C 1100 3.91 0.09] 2
2.72 5% 1.19 FEME(3) FEAMIE(4)
= GX=G 13 000 3.00 1.00] 1
3.00 53 FEARIX(3)
= GX=G 13 000 3.00 1.0o| 1
3.00 5% SR ()
= GXGloa50 | 2 | 9%C 1,300 3.74 0.26| 2
2.35 7% 1.39 FEMEG) ZEAME(3)
= GXZG 1 990 | 10 | %O 1330 2.62 1.38] 2
1.29 5% 1.33 FEAHII(6) FEHII(6)
= GX=G 13 430 3.43 057 1
3.43 53 FEAHI(6)
= GX=G 13 100 3.10 0.90[ 1
3.10 5% FEAIE(6)
H*& DCIP-GX ¢ 100(SfE%) L = 4,000 7 K 22.80] 5.20| 10




1-3. EKE ML

4 i AR~ BT A z\ &

D. DCIP (GX) ¢ 100
B

FRERE RS T $ 100 m |460.79 460. 8
B

GXfkF T ® 100 0| 115 115
FIEE GUr

GXfkTF T ¢ 100 | 18 11 7 7
AT =T VAT

GXHk=F T $ 100 [l
G) 7

GXfkTF T ¢ 100 | 11 11
GXI

PRERE B KT L ¢ 100 | 10 10

AR A —TWET|¢ 100 ¥x57—7 m |460.8 460. 8

MR R~V L W=150mm 2{EP1IA m |460.8 460. 8




2-1. YK E

PEE

= i 1 R QAR
PRTR e | g &EHEt B E R EFflk T (RlE) K =FLoEHERN| 75 0 DHkF
s AR - Tk AL By % B HPPE SUS I GER) (N%) GER)
6 75 50 150 100 | 75| 50 | 75 | 50 [ 100 75 50 | 100 75 | 50

. HPPE ¢ 50
HPPEE & (B)%& ) DERELY
FlL—rx v NEE é 50X 5, 000 #A& | 5.00 2 8.78
PESE L 1+
AN Zan=ib ¢ 50 % ] 0.68 1 1 0. 68
HPPE
EFY 7 v b ¢ 50 {E] — 2 2 2

DCIP-GX =R F I EMAEEE |1-1K] 0.12
TR T $ 100X ¢ 75 1 | o.44
HPPE
EFfisz -~ R ¢ 50 X90° i ] 0.32 1 1 0.32 1
HPPE
EFfisS~y K ¢ 50X 300H & ] 0.64 1 1 0.64 1
HPPE
EFfisz -~ K ¢ 50 X 45° @ ] 0.22 2 2 0.44 2

H=150
ARy 7 A & i — 1 1

H=150
ARy 7 A BET L — 1 1

H=300
fEEIFRAR » 7 R TR N 1 1

H=70
U~ 7 A JEERR i 1 1

FAFE R
w=54v )" 04y~ m — || 10.86 10. 86
AL £
HERF IRy -] W=150mm 2£H1iA m — | ro. 41 10. 41
2t 10. 86 6




2-2. HPPE #EKE ¢ 50 HIERE

8 ] 16 W | o | A
U B | e | OO e
PN | B S[BB AN B OSERE AR | E S[ER e E X 2l T T B
6 3.33] 5 6 0.65] 4 6 0.91 4.89 0.11 3
3.33 0.65 0.91 53
6 2.69| 3 6 1.20 3.89 1.11 2
2.69 1.20 5%
& g E% HPPE ¢ 50 L = 5,000 2 A 8.78[ 1.22 5




2-3. BEKE ML

suara
VA Ak - <Hk A b X m‘gﬁﬁi
@.HPPE ¢ 50
AL O frgos
KV AR T |50 m | 10.86 0. 68 10. 18 10. 2
A G
I ESAPA . s 21 [FIBEfE T 50 {3 7T 6 0 2
IEWmELY
BT BT | 650 4 > 5 5
HEIFR R T 650 bk & 1 1 1
15
Ol ERE L Bk H=150 & T 1 1 1
15
LU ERRE T - EREE H=150 & T 1 1 1
M1
LU ERRE T THEBEE H=300 & T 1 1 1
%15
fE e R i T JERR_H=40 {1 T 1 1 1
nh—=3 400" 94Y-T ¢ 50 m 10. 86 10. 86 10.9
HERFORY - L W=150mm 2{FH1iA m 10. 41 10. 41 10. 4




2-3. BEKE ML

uzla
A Ak - <tk B 7 2 ﬂgﬁg
Mo 7 ) — L
Tl T /NREEY) m?’ 0.26 X 2 X 0.77 = 0.400 0.4
o ck=18N/mm2
a7 J—hL /NREEY) m® 0.26 X 0.26 X 0.77

- 7 /4 X 0.06 % X 077 = 0.049 0. 05




4. BKRART

4 giin AR ~HE ==X va =1 7 g
DCIP-GX ¢ 100
BAKRER T K ERL EAKAE 460. 79 = 460. 79
HPPE ¢ 50
YK 10. 86 = 10. 86
HPPE ¢ 50 HPPE ¢ 50 HPPE ¢ 50
m Fa kG AE 2.49 + 2.49 + = 4,98
& § 476. 6




=S
7K
g
A
E4
T
(B3
L
67\
)

il
:_l;u




i

B it M &

4 ® R SE Ok BT ] LA
+ T

<JmHH R >
Ashithy 42—

ERLEY) M T t=15cmE T m 10
BEHIP AR IR B I AEA

EERUIEL T BH0.28m3, t=15cmLL m2 3
HEH A A5t SR

SRR L BH0.28m3, +# m3 2
HEH A A5t SR

A R T BH0.28m3, & Ah, 4 m3 1
HEH A A5t SR

FATHERT BH0.28m3, i £, 4 m3 1
DT 4tf% BHREIAL= km

FELAE T Asti'7 m3 0.2
DT 4t BHREIAL= km

LB T R m3 2

A= Ash'7 t 0.4

Loy e +wb m3 2

<{iF1H >
AN W=1.8mPA | #onEE

TEEET (HEEE) J599%—7/RC-40,t=15cm m2 3
AN W=1.8mPA | #onEE

b AR T (A L) B FIRAIM=30,t=12cm m2 3
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B it M &

1. fll £ W AR N R~ HANT 75 H i AR
HiE AT~ UNHAR
)8 T (e HE) BRI FET A3, t=3cm m2 3




HEHIEREED

=

B2
T fl 4 IR N R BT 25 F il EHE% i
fa kg DA

BraxHb TS

(.HPPE ¢ 50

HPPEEE (W) )

T — TR EE $ 50X 5,000 1

PEfEL M1 £F

V7N — A ¢ 50 X% 1

HPPE

EFY 47 vh ¢ 50 ] 2
DCIP-GX

G ¢ 75 ] 1

PRERE H GXJ¥. HPPEJAHL O

FFEET ¢ 75X ¢ 50 1] 1

Rk PR By Ak

AHHEIPPE ¥ $ 50 fi# 1
H=150

AR TR s L 1
H=150

YRRy IR - BEE e 1
H=300

LR 7 A T ERAE L 1
H=70

ARG S JERR 4 1

=747 A%~ m 2.5

HIER R~y —b W=150mm 2{447IA m 2.5




HEHIEREED

A&
T fE 4 Fr AR NS Hifr AL (] 75 1%

MREERBR Y, 1 T

(2).HPPE ¢ 50

PEfEL M1£F

V7N =) 5 ¢ 50 Sk 1

HPPE

EFY 47 vh ¢ 50 1 2
DCIP-GX

GUv 7 ¢ 75 i 1

HRERE GXJ¥. HPPEJAHL O

FERE KT ¢ 75X ¢ 50 1] 1

HhEki E7 AR RN

AHRYPPX v 7 ¢ 50 1 1
H=150

BRI A B i) 1
H=150

IR Y7 A _BEER . 1
H=300

BRI A T BEE Hi 1
H=70

LB SRR Y I A JEERR Hi 1

=747 A%~ m 2.5

MR Ry~ W=150mm 2{ZH7iA m 2.5
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B i F (i i

ix B &
T fE 4 Fr AR NS Hifr AL (] PR fii
fa kg DA

Brax EBh T

(D.HPPE ¢ 50
RlAE S

FFLV B PR T ¢ 50 m 1.8
RS

FVF VBT T 2 [RIRE T, ¢ 50 & T 2
Al =T VAR

FYVIFL BT T ¢ 50 5] 1

Y FL B ¢ 50 H 2
G

GXHtF L. ¢ 75 H 1
B Ny—va b

PR R E B L ¢ 50 [E150 1

) FpekE L ¢ 50 B I 1
M5

RO R E T 2 H=150 It 1.0
M5

RO R E T i EE H=150 It 1.0
M5

RO R E T T HBEE H=300 & It 1.0
M5

(LR ERRE T JERR H=40 & Pt 1

=747 4 %=1 $ 50 m 3

WIER R~y —b T W=150mm 2{Z#riA m 3




B i F (i i

ix B &
. i 4 R IR N RS Hifr 25 BRI 75 1% fii

MRERBR Y, 1 T

().HPPE ¢ 50
RlAE S

FYLFV B R T ¢ 50 m 1.8
RS

FY)IFL L E T T 2 [FIBfE T ¢ 50 & T 2
Al =T VAR

FYVIFL BT T ¢ 50 5] 1
GUr 7

GXHtF L. ¢ 75 H 1
AE Ny =V a b

PRSI IE BB 1 ¢ 50 & Pt 1

U ERE T o 50 Hhk I 1
ME15

RO R E T 2 H=150 It 1
ME15

RO R E T i EE H=150 It 1
ME15

RO R E T T HEBEE H=300 It 1
ME15

LR ERE T JEERR H=40 {5 Pt 1

=747 4 %=1 ¢ 50 m 2.5

WIER R~y —b T W=150mm 2{Z#riA m 2.5




1.+ TEFHR

TH H S AT R
2
s ¢ 50 <X{v AR E
N ;x TJ"
% T FER 5 g
i HE AS5-10-15
< PRI >
Ashiys—
DI 1 t=15cm* T 9.96 m 9.96 10
et AT R IR A
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NJ, B
HBT BRI As t=3cm 0.600 0.600| m2 2.99
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HPPE ¢ 50 O —F 42574 %—
2 3
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3-1. #aAKEAE  #ME

] A 1 ik ill|
PNTRR e | #EE L HE R EFfk T (&) R =F L ERT (A D) | CXREFERZ N
S oAk s LS Ik P % & TPPE SUS G GES (&) HAE
6 75 50 150 100 | 751 50| 75| 50 [ 100 75 50 75 | 75
K 2.49 2 1 1
RS 1% T
®©.HPPE ¢ 50
HPPEIEL (B)& ) TERELY
Sl —rxTy REE ¢ 505, 000 A | 5.00 1. 00
PEFF L DI+
WA AR ¢ 50 % ]o0.68 1 1 0. 68
HPPE
EFY 77 v b ¢ 50 {E] — 2 2 2
DCIP-GX =¥ v pikids [1-Fk 0.12) (1) 0.12
TR $ 100X ¢ 75 8 |o0.44 1
DCIP-GX
GV o ¢ 75 {E] — 1 1
HekE GXJ. HPPEJEAE L M
SRR B F ¢ 75X ¢ 50 1@ | 0.69 1 1 0. 69
SRk PR, By i gt
AHRYPPF ¥ v ¢ 50 1] — 1 1 1
H=150
fEEIFR R v 7 A PR Ol — 1 1
H=150
ARy 7 A BEER A — 1 1
H=300
ARy 7 A T e HH — 1 1
H=40
LR v 7 A JEHR Ol — 1 1




3-1. FKB AR

PEE

[ i 1 B g mge il
- , e | EtEt £ E R EFfEF (R 75) FYzF Lo EmECH | GXEFEZ O
4 R AR - ik Hor | EEL ; g~ — —
i b B g ¥ & T S0s Rl BGER GED A
6 75 50 150 100 | 751 50| 75| 50 [ 100 75 50 75 | 75
nr=7 (V)7 47— m | — || 2.49 2.49
T
MR- W=150mm 2fEH1iA m — || 2.49 2. 49
2t 2.49 2 1 1
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o b ) | | o | A
7 [ g b
sl | £ slEelamx| & slEelwam £ s[EE oK £ & L LR VIR /2
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1.00 1.00 7%
& i E& HPPE ¢ 50 L = 5,000 1 & 2.00] 3.00 2
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A Wk« i B W st Eﬁgﬁg

Fer (=1 R

(. HPPE ¢ 50
A RS gl

B Vv RAT T ¢ 50 m 2.49 - 0.68 1.81 1.8
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= e PP
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EMRE LY
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